Q. i ;]ﬁﬁ&m% 3T, (eigenvalues) 3R STSTATRR (eigenvector) Td &3]

Solution:

%_QTUWT%:

i

characteristic equation is[A—Al] =0
ST A matrix g 3R A eigenvalue g

U PR
P2

» [A2 — {some of diagonal elements}A + {some of diagonal minors} = 0]

5 4

. 2] = 54+2=7.

some of diagonal elements = [

some of diagonal minors = [5 4] =10-4=6.
1 2
Then
=A2-71+6=0 [~ 6 ®T FACTOR T 8l... 1,2,3,6 ]
=A2-1-61+6=0
=A1-1)—-6(1—-1)=0
=1=1,1=6
TIUHR Eigenvalue 6 3R 1§l

Eigenvector:

[A-Alx=0
Y UHR

=[51_k zfx] m =0



independent equation —x + 4y = 0

eigenvector is (4,1)
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HNINEL

eigenvector is (1, — 1)
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